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1. BZ/KEHPPE ¢ 50mm &3



HPPE ¢ 5OmmEKERRT HEHEE
&8 0% HPPE ¢ 50mm: L= 59.319m (58.925m)
ekt 41):0.70m~1.10m NO. 1
g 4 R
L 5 BRI A | & & | EHR H_Z
KBEKE B EFZOFMESE
¥ RYIFLUE ¢ 50 x 5,000 PN 9| 5.000 5000 X 9 = 45.000
KEEKE R BEE
RYUIFLUE ¢ 50 x 5,000 S 3 PERELY = 11.016| &R
RUTFLUER m
EF90° AR ¢ 50 x 90° & 1] 0.320 0320 x 1 = 0.320
RUTFLUER m
EF45° RUF ¢ 50 x 45° & 7] 0.220 0220 x 7 = 1540
PEEOI7VVEE ¢ 50 & 1| 0.360 0.360 X 1 = 0.360
RUTFLUER CELY PR
T B K 535 @ 75% 50 & 1] 0.203 0203 x 1 = 0.203
750V BYIN - F ¢ 50 & 1] 0.180 0180 Xx 1 = 0.180
PEHEO{3Y7b -1 5 ¢ 50 & 1] 0.680 0680 X 1 = 0.680
PEP VP
Ah=ANSaqok $50% @30 & 1| 0.020 0020 x 1 = 0.020
RUTFLUER
EFV7 vk ¢ 50 & 2 2 = 2
RF-GFATULAATFVY HEEH
AFULAAN AFTYFSUS304BN7.5K ¢ 50 # 1 1 = 1
RELER = 59.319
ERER T T
ERART—7 W=50 m 58.5 59.319 - 0.680 - 0.180 = 58.459
HPPEZE & -7 BIRY EEE
BEIRBERER)-7 15T m 78.3 59319 x {60 x (1 + 01) 50 = 78.301
ERER R
ARIRERERY-7 B avT-7 W=50 m 30.3 59.319 x (51 +~ 100) = 30.253
TILE THIR T T
BERZRE S — W=150 2{& m 58.1 58.922 - 0680 - 0.180 = 58.062
FYIFLUEE ¢ 50 & 1 1 = 1 R EEKE
PEPE A
BShliFvysyk b 25 & 1 1 = 1 REEKE
¢ 250 H=0.70
TSRS CH1ERIH 4 2 2+ = 2
T+ A ¢ 250
L WYL L+ TF#& H=300 & 2 2 + = 2
T+ A ¢ 250
Ly vk yh R EE(Hf2) H=40 | {& 2 2 + = 2




HPPE ¢ 5O0OmmEKERRT HEHEE

ER &1 #1):0.70m~1.10m NO. 1
g 4 R
TiE £ K TZE S % & H %
FE ]
RbE T T
RYIFLUERMNL ¢ 50 m 58.5| 59.319 — 0680 - 0.180 = 58.459
A#%F) EE 90
EFfF T ¢ 50 AT 25| 9+ 1 x 2
45 22 M1
7 X 2 + 0 2 + 0 = 25
(2O#F) Yhyh F-R
EF#tF T ¢ 50 BT 20 2 4+ o0 = 2
YEREELY
RYZFLUEYT ¢ 50 a 9] 9 = 9
FYIFLVE A BEERE
TEIKERT @ 75% 50 AT 1 1 = 1
R E Bk
BEEYIMT ¢ 30 331 1 1 = 1
RYIFLUE g
ANh=—HIBFT ¢ 50 BT 1 . = 2
RYIFLUE
ANZHIBFT $30 AT 1 1 = 1
RUHERET ¢ 50 = 2 1 + 1 = 2
RlA#EE &g
NORMERFT ¢ 25 BT 11 0o + 1 = 1
BHRRT—JL W=50 m 58.5 | &I LY = 58.459
¥ET—7
BHREER)-TBEL O T5LUTF m 59.3| AR LY = 59.319
FILS
EHRY—FT W=150 2{& m 58.1 | E# &Y = 58.062
BKE
AAKHERT BRE% B iR m 59.3| 59.319 = 59319
¢ 250
tUFAKEREMGT cisExrTK  |&F 2 2 = 2
to#H ¢ 250
VY uR AR T L& H=300 & 2 2 = 2
T+ A ¢ 250
Ly oy AR T EE(Hf2) H=40 | {& 2 2 = 2
(£T]
¢ 50
B+ TD-1 hEEE m 58.4| 584 = 584
¢ 75X ¢ 50 MK
EEHLTQ hEEE m 1.0 1.0 = 10




T I ¥R & M =

No. 1 NO. 1 TID-1 NO. 2 TI® NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mmHPPEEE K & 58.4 =R L 1.0 =EEL 0.0 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 116. 80 2.00 2.00 0.00 0.00 0.00 0.00 0.00 0.00 [[( 118.80 )] 120 )

I T t=15cmLL T m 0.00
AsEiZEhR 0. 60 35.04 1.00 1.00 0.00 0.00 0.00 0.00 0.00 0.00 [( 36.04)]( 36 )

SEEARIER T [t=10cmA T m2 0.00
BHO. 13m3 0.46 26. 86 0.93 0.93 0.00 0.00 0.00 0.00 0.00 0.00 [[( 27.79)]( 28 )

AR R T MEL m3 0.00
BHO. 13m3 0.15 8.76 0.48 0.48 0.00 0.00 0.00 0.00 0.00 0.00 |( 9.24 )] ( 9)

HHERT BER m3 0.00
BHO. 13m3 0.18 10. 51 0.25 0.25 0.00 0.00 0.00 0.00 0.00 0.00 (¢ 10.76 ) 11)

HERT fideda m3 0.00
(RC-30) 0.60 35.04 1.00 1.00 0.00 0.00 0.00 0.00 0.00 0.00 [( 36.04)]( 36 )

TREERET t=10cm m2 0.00
(RC-40) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 |( 0.00 )| ( 0)

TRERET t=15cm m2 0.00
(RM-30) 0.60 35.04 1.00 1.00 0.00 0.00 0.00 0.00 0.00 0.00 [[( 36.04)]( 36 )

LRERET t=12cm m2 0.00
BAZTHLAs13mm 0.60 35.04 1.00 1.00 0.00 0.00 0.00 0.00 0.00 0.00 |[( 36.04)]( 36 )

B R 18 16 t=3cm m2 0.00
BitunT 0.26 15.18 0. 65 0.65 0.00 0.00 0.00 0.00 0.00 0.00 (¢ 15.83)]( 16 )

(£8) 2tDT m3, 0.00
BitunT 0.03 1.75 0.05 0.05 0.00 0.00 0.00 0.00 0.00 0.00 |( 1.80 ) ( 2)

(AS) 2tDT m3, 0.00
2AE 0.07 4.09 0.12 0.12 0.00 0.00 0.00 0.00 0.00 0.00 |( 4.21)|( 4.2)

ASH% t 0.00
TEEE 0.60 35.04 1.00 1.00 0.00 (¢ 36.04)]( 36.0)

HREREIR (5-10-10) m2, 0.00
0.00 |( 0.00 )| ( 0.0)

0.00

0.00 0.0

0.00

RBRKELREEE RE=REHH




+ I # it B =
No, 1
WA =  (@D-1 HPPE#50 L= 58.4 m
B B = il H= 0.75 m
EHEEE = 0060 X 0060 X x / = 0.003
=P = X X z / =
Im2%47
% 7t H = H | & & i =
BRI T
AsEHHEIR t=15cmEL T 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
et 1. BHO. 13m3
- E A - FEE A 1.00 X 0.60 X( 0.81 — 0.05 )= m3 0.46
HEEZ 1. BHO. 13m3
LRI AT 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
HEECT BHO. 13m3
LN A 1.00 X 0.60 X 0.30 = m3 0.18
TSI T (RC-40)
t=10cm 1.00 X 0.60 = m2 0.60
LS T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAS 177 046 —( 0.18 = 0.90 )= m3 0.26
FELH T 2tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
BN
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




T I & E § E E
No,2
Wrigis 5 = @ DIP ¢ 75 L= 1.0 m FTHAKDUE
B B = il H= 0.70 m
EHE S = 0090 X 009 X x / 4 = 0.006
BEHE = X X z /J 4 =
Im2%7
% 7t H = H | & & i =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BT 1
AsBHEER t=10cmll 1.00 X 1.00 = m2 1.00
et 1. BHO. 13m3
1 P E A - BEE A 1.00 X 1.00 X( 0.99 — 0.05 )— 0.006 =| m3 0.93
HEEZ 1. BHO. 13m3
SN D AR 1.00 X 1.00 X 0.49 — 0.006 = m3 0.48
HEECT BHO. 13m3
SNl TS A 1.00 X 1.00 X 025 = m3 0.25
AT (RC-40)
t=10cm 1.00 X 1.00 = m2 1.00
LS T (RM-30)
t=12cm 1.00 X 1.00 = m2 1.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
FELH T 2tDT EELT WAL
FHAH L4 0.93 —( 0.25 = 0.90 )= m3 0.65
FELH T 2tDT
FFIAB TAT7 /% 1.00 X 1.00 X 0.05 = m3 0.05
BN
TR/ 0.05 X 235 = t 0.12

LEERKELEES XA =REHT




%6

mEktT Iy EHY iR O
W | B gyt ——=— i B || W | W gyt ——— i ®
+T ©
Al [ — 0.70 — —
0.353 0.70 0.70 0.247 | 0.853-0.500
0.566 0.70 0.70 0.396
3.000 0.70 0.70 2.100
1.626 0.70 0.70 1.138
0.470 0.70 0.70 0.329
0.400 1.10 0.90 0.360
15.110 0.70 0.90 13.599
35.925 0.70 0.70 25.148
0.550 0.30 0.50 0.275
0.430 0.30 0.30 0.129
& 2 58.430 43.721 & E —
TR = 58.430 m T TIER —
Py =  43.721 + 58.430 = 0.75 m S 45

i e YR K L TS84 3 R = i R 5 P



[HPPE®50 EE] UIEHE

No- 4 T MR SRS B E  FEE - 0.35m ZHE = 0.25m

B S 7% 5] i N
&2 owik B s|Es omn & s|EE opn B s|me| owr e s|lEs owr 2 s A

1 0.346| 2 2.780|1 3 1.406| 4 0. 250 4,782 0.218 4

5 0.346| 7 0.300|] 8 0.508] 9 0. 300 1. 454 3. 546 4

6 4. 780 4. 780 0. 220 1

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

0. 000 0. 000 0

& it [HPPE 650 %] L=500 3 &K 11.016| 3.984 9 0

EERKELEER TR = REHR




2. ARG (K% ¢ 50mmHPPE)  ¥i&E3E



fKEMRLI (RES50mmHPPE) #E5tEE

18- Q1% PEP ¢ 20mm X 2687, PEP ¢ 25mm X 1 &

ER &M £#Y:0.60m NO. 2
g 4 R
TiE - KT ZE S % & H %
H#
FYIFLYE A (e EY) AR47°
YRI5 KiE ¢ 50 % 20 2 2
FUIFLYE A (e EY) B447°
YRI5 KiE ¢ 50% 25 1 1
¢ 20
kR Y IR FCD =ZRm# & 2 2 2
$170
IEKiEFAS%E (FCD&)T-25 ® 1 1
1EKi2 A ¢ 200
LWL L# H=150 & 1 1
1EKi2 A ¢ 200
L WYLS & H=200 & 1 1
1EKi2 A ¢ 200
LY uik R JERR H=40 & 1 1
FE (#BT]
FYIFLVE A
RKBETAAT ¢ 50 % ¢ 20 G331 2
FYIFLVE A
RKEETAATL ¢ 50% 25 331 1
FHE
MIf AR47° EHBIEB<4m
FRKEERT PEP ¢ 20 (517 2/L=1.8m + L=1.8m L=1.8m
MIf B447° EHBIEB<4m
HHKEERT PEP ¢ 25 BT 1] L=1.8m + L=1.8m
(£T]
¢ 20
#HAKETID-1 hEEE m 45 45 45




T I ¥ R K i %
No. 2 0. 1 TID-1 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
MK E (K E B 50mmHPPE) 758 4.5 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=
AsFHZERR 2.00 9.00 9.00)][( 9)
SEUMT t=15cmA T m
AsEiZEhR 0. 60 2.70 2.70)|( 3)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.35 1.58 1.58 ) ( 2)
AR R T ME L m3
BHO. 13m3 0.14 0.63 0.63 )| ( 1)
HHERT BER m3
BHO. 13m3 0.09 0.41 0.41)( 0.4)
HERT HESL m3
(RC-30) 0.60 2.70 2.70)|( 3)
TREERET t=10cm m2
(RM-30) 0.60 2.70 2.70)|( 3)
LRERET t=12cm m2
BEZRH As13mm 0.60 2.70 2.70)|( 3)
B R 18 16 t=3cm m2
BitunT 0.25 1.13 1.13)( 1)
(£8) 2tDT m3
BitunT 0.03 0.14 0.14)|( 0.1)
(AS) 2tDT m3,
ZAE 0.07 0.32 0.32)|( 0.3)
ASH% t
TEEE 0.60 2.70 2.7
HRE{REIR (5-10-10) m2,

EBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WA =  (@D-1 PEP$20 L= 4.5 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% 7t #H = H o & & i =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.15 = m3 0.09
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 0.35 —( 0.09 = 0.90 )= m3 0.25
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




3. R EME L HEX



PRRERET HEFHES

EfE- O :PEP ¢ 25mm:L=30.0m , VP ¢ 20mm:L=30.0m (}57KE)
fEE 5T #Y):0.30m~0.70m NO, 3
E 4 R A
I £ & BHTE | % & B %
223
H# ISUCE 50 & 1 1 = 1
¢ 50-RF-GF3EAR
270 FH ATULAAN Ro9b | #R 1 1 = 1
HIVP
BEEX vy S ¢ 50 & 2 2 = 2
HIVP
BEEX vy S ¢ 40 & 2 2 = 2
HIVPE ¢ 30 X 4,000 PN 1] (1.0m) e
BRI ESHF ¢30 & 2 2 = 2
EE B RBHBHRE (1D 30 & 2| 2 = 2
A3V R = IEIKEE ¢ 30 #® 1 1 = 1
=T e

kiR Y IR FCD =[@m#& & 1 1 = 1

185875

777 %7 ¢ 20 & 1 1 = 1 $ 201k
185875

797 %97 ¢ 25 & 1 1 = 1 $ 2515




PRRERET HSFHES

% :PEP ¢ 25mm:L=30.0m , VP ¢ 20mm:L=30.0m (¥57KE)

SR A T 1:0.30m~0.70m NO. 3
E 4 R A
I £ & BHTE iy = B %
A=
FE [(#=T]
BIERERET EEE ¢ 50 m 62.0 20 60.0 = 62.000
BIERERET EEE ¢ 40 m 62.0 20 60.0 = 62.000
BIERERET EEE ¢ 20 m 30.0 30.0 = 30000 #kiE
B ERET FYIFLUE ¢ 25 m 30.0 30.0 = 30000 #kiE
BEEUHRT ¢ 50 [m] 10 62.0 60 m/0 = 10
BEEUHRT ¢ 40 [m] 10 62.0 60 m/0 = 10
BEEUHRT ¢ 20 [m] 5 30.0 60 m/0 = 5
RYIFLUEYMT ¢ 25 m] 5 30.0 60 m/0 = 5
TSV CHFRIALT ¢ 50 A 1 1 = 1
ISVCHMFT ¢ 50 [m] 1 1 = 1
@250
U RASSREAGT CIExCK &R 1 1 = 1 BiREIR
T H ¢ 250
LY UK v AR T L& H=300 & 1 1 = 1 BERHER
T H ¢ 250
LY UK v AR T K& (FH#Z) H=40 | {& 1 1 = 1 BERHER
EESTS#EFT ¢ 50 m] 2| 2 = 2
EESTS#EFT ¢ 40 m] 2| 2 = 2
[BEEE B2
1m 0.310kg
BKEVP ¢ 20 t 300 x 0310 = 9.300
1m 0.448kg
$BIKEPE ¢ 25 t 300 x 0.448 = 13.440
1m 0.791kg
FKEVP ¢ 40 t 620 x 0.791 = 49.042
im 1.122kg
BKEVP 50 t 620 x 1.122 = 69.564
i = 1413
(+T]
% ¢ 50- p40
+I® Coffisk m 20 20 = 20
% ¢ 50- p40
+I® mEnE m 60.0 60.0 = 600
#E D25+ 920
+I® & m 30.0] 300 = 300 | #HKE




T I ¥ R K i %
No. 3 NO. 1 BEOG NO. 2 BEG NO. 3 TI® NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREMET 20 =EEL 60.0 =EEL 300 =EEL SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
Cof%EhR 2.00 4.00 4.00)|( 4)
SEUMT t=15cmA T m
CofdEhR 0.60 1.20 1.20 )| ( (D)
SRR T [t=15cmAF m2
AsEhiZEhR 1.00 30.00 30. 00 ) ( 30)
SEUIMT t=15cmA T m
AsEfiZEhR 0. 60 18.00 18.00 )| ( 18)
SHERREFR T [t=10cmA T m2
BHO. 13m3 0.17 0.34 0.45 27.00 0.35 10. 50 37.84 )] ( 38)
AR R T ME L m3
BHO. 13m3 ) ¢ )
HERT BER m3
BHO. 13m3 0.1 0.22 0.46 27.60 0.23 6.90 34.72 ) ( 35)
HERT HESL m3
(RC-40) 0.60 1.20 1.20 ) ( 1)
TRERET t=17cm m2
(RC-30) 0. 60 18.00 18.00 )| ( 18)
TRERET t=10cm m2
(RM-30) 0. 60 18.00 18.00 )| ( 18)
LRERET t=12cm m2
BAZTHLAs13mm 0. 60 18.00 18.00 )| ( 18)
e gk 42| t=3cm m2
RitunT 0.05 0.10 | -0.03 -1.80 0.09 2.70 1.00 ) ( 1)
(£8) 2tDT m3
BitunT 0.04 0.08 0.08 )| ( 0.1)
(C0) 2tDT m3,
ZAE 0.09 0.18 0.18)|( 0.2)
CO%% t
BitunT 0.03 0.90 0.90 )| ( 0.9)
(AS) 2tDT m3,
ZAE 0.07 2.10 2.10)|( 2.1)
ASH% t
2@ 0. 60 1.20 1.2
HREREIR (7-10) m2,
HEEE 0. 60 18.00 18.0
HREREIR (5-10-10) m2,

RBRKELREEE RE=REHH




H
H
32
il
o
o
i

fé?i\b NO,]
s = & VPss50-440 L= 2.0 m
Bt B = Cof# H=_0.30 _m
EHEEE = 0060 X 0060 X 1z / = 0.003
EHEEE = 0050 X 0050 X =z / = 0.002 7 0.005
Im2%47
% 7t #H = H o & & i =
BRI T
CodHElk t=15cmEL 1.00 X 2 = m 2.00
DHRERRARA R T
CollEie t=15embl 1.00 X 0.60 = m2 0.60
1 BHO.13m3
Wb A FEE £ 1.00 X 0.60 X( 0.36 — 0.07 )- 0.005 =| m3 0.17
i T BHO. 13m3
S NFEIED PR m3
i T BHO. 13m3
LG TN A 1.00 X 0.60 X 0.19 = m3 0.11
TSI T (RC-40)
t=17cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X = m2 0.00
LG T 2tDT wmElE WAL
FEAA 1+ 0.17 —( 0.11 + 0.90 )= m3 0.05
FELH T 2tDT
FERA a2l — i 1.00 X 0.60 X 0.07 = m3 0.04
EIN -
) — 0.04 X 235 = ¢ 0.09

LEERKELEES XA =REHT




H
H
32
il
o
o
i

fé?i\b NO,2
s = ©®  vPss50-440 L= 60.0 m
B ff = MR H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
EHEEE = 0050 X 0050 X =z / = 0.002
Im2%47
% 7t #H = H o & & i =
BRI T
AsFTFRIR = 15cmLL T 1.00 X = m 0.00
BHEERR A T
AsBHEER t=10cmll 1.00 X = m2 0.00
et 1. BHO. 13m3
- A - FEE A 1.00 X 0.60 X 0.76 — 0.003 - 0.002 =| m3 0.45
HEEZ 1. BHO. 13m3
S NFEIED PR m3
HEEZ 1. BHO. 13m3
LN A 1.00 X 0.60 X 0.76 = m3 0.46
TSI T (RC-40)
t=17cm 1.00 X = m2 0.00
RS T (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X = m2 0.00
LG T 2tDT Al AL
FEAS 177 045 —( 0.46 = 0.95 )= m3 -0.03
FELH T 2tDT
TR =22 — g 1.00 X X 0.00 = m3 0.00
BN
Y — i X 235 = t 0.00

LEERKELEES XA =REHT




T I #% E & & EBE
S Nod
Wrigis 5 = B ppszsveszo L= 30.0 m jokE
Briab e = BEESRE H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
EHEEE = 0030 X 0030 X =z / = 0.00] 7 0.002
Im2%47
% B 7t #H = H o & & i =
BRI T
AsBHEER t=15cmll 1.00 X 1 = m 1.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T BHO.13m3
W A BEE A 1.00 X 0.60 X( 0.63 — 0.05 )- 0.002 =| m3 0.35
HHE T BHO. 13m3
S NFEIED PR m3
HE T BHO. 13m3
LGRS FAE A 1.00 X 0.60 X 0.38 = m3 0.23
TSI T (RC-40)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 2tDT wmElE WAL
FEASL 1 0.35 —( 0.23 + 0.90 )= m3 0.09
FEH T 2tDT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 2.35 = ¢ 0.07

LEERKELEES XA =REHT




4. BEmcEdis L (BdKE) HER



BIREERT (k8 HE5tE=E
ETE-O%:VP ¢ 30mm:L=1.0m
R &M T #Y:0.30m NO. 3
E 4 R A
I £ & BHTE iy = B %
223
H#
HIVPE ¢ 30 x 4,000 x 1] (1.0m) g
BRI ES5HF 30 & 2| 2 2
BEERERTE (F D) 30 & 2| 2 2
ARV R = IEIKEE ¢ 30 #® 1 1 1
=T e
kigRY IR FCD =EmE & 1 1 1
HIVPY 9k ¢ 30 & 2| 2 2
[BXE& ALK EHET]
BIERERET EEE 30 m 1.0 1.0 1.000
BEEYIT 30 m] 2 2 2 BRI
[BXE%AC/K &&@fE T
BEELLESLERAT ¢ 30 m 1.0 1.0 1.0
Il
BEELE-LETNT 30 m] 2 2 Y E AR 2
RLAHESE e
MNORHERFT ¢ 30 [m] 2 2 2
VPH
Ak ERft T 30 (5178 1 1 1
MZhVEF T 30 [m] 2 2 2
BEELED)LERTFT ¢ 30 m] 4 2 X2 4
[£T]
30
+I@® Coffisk m 1.0 1.0 1.0




T I ¥ R K i %
No. 3 NO. 1 TI@ NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
FFREZERT 1.0 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=
Cof%EhR 2.00 2.00 2.00)][( 2)
SEUMT t=15cmA T m
Cog%Ehi 0. 60 0.60 0.60 )| ( 1)
SRR T [t=15cmAF m2
AsEH%E R K )
SEUIMT t=15cmA T m
AsFH%E R K )
SHERREFR T [t=10cmA T m2
BHO. 13m3 0.22 0.22 0.22)|( 0.2)
AR R T ME L m3
BHO. 13m3 0.14 0.14 0.14)|( 0.1)
HERT BER m3
BHO. 13m3 0.02 0.02 0.02)|( 0.02)
HERT HESL m3
(RC-40) 0.60 0.60 0.60 )| ( 1)
TRERET t=17cm m2
(RC-30) )¢ )
TRERET t=10cm m2
(RM-30) )¢ )
LRERET t=12cm m2
BEZRH As13mm K )
e gk 42| t=3cm m2
RitunT 0.20 0.20 0.20 ) ( 0.2)
(£8) 2tDT m3
BitunT 0.04 0.04 0.04 )| ( 0.04)
(C0) 2tDT m3,
ZAE 0.09 0.09 0.09 )| ( 0.1)
CO%% t
BimsT ) ¢ )
(AS) 2tDT m3,
ZAE )¢ )
ASH% t
2@ 0. 60 0.60 0.6 0.6
HREREIR (7-10) m2,

RBRKELREEE RE=REHH




T I #% E & & EBE
No,3
WS = @ HVP$30 L= 1.0 m
BraE = Coftfe H= 040 m
EHEEE = 0040 X 0040 X x / = 0.001
=P = X X z / =
Im2%47
% 7t #H = H o & & i =
BRI T
CodHElk t=15cmEL 1.00 X 2 = m 2.00
BHEERR A T
CodiE M t=15cmid F 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
- A - FEE A 1.00 X 0.60 X( 0.44 — 0.07 )- 0.001 =| m3 0.22
T BHO. 13m3
LRI AR 1.00 X 0.60 X 0.24 — 0.001 = m3 0.14
T BHO. 13m3
LN A 1.00 X 0.60 X 0.03 = m3 0.02
TSI T (RC-40)
t=17cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X = m2 0.00
LG T 2tDT Al AL
FEAS 177 0.22 —( 0.02 = 0.90 )= m3 0.20
FELH T 2tDT
AL a2 2 — P 1.00 X 0.60 X 0.07 = m3 0.04
EIN -
Y — i 0.04 X 235 = t 0.09

LEERKELEES XA =REHT




5. HEAKEPE ¢ 26mm  FrEEFe



PE®25mmBEKETRT HEHEE
EFE - OF: HIKEPE ¢ 25mm fERIER : L=2.500m (2.200m)

aE S £#8Y:0.60m NO. 3
& H R
IiE - FBHKTZE By % £ | B4R H %
#H#
RYIFLUZBE $25 m 25 1700 + 0300 + 0500 + = 2500
PEPI /L $25 & 3 3 = 3
VLI LR $25 & 1 1 = 1
VLIS ®25 ] 1 1 = 1
PEF RV Tk $25 & 1 1 = 1
REEE PEP 625 = 2500
ERER
EHRT—T W=50 m 2.5 2.500 = 2500
HEERIRH S —b W=150 2% m 2.2 2.200 = 2200




PE®#25mmEBEIKERRT HEBHES

R 1Y 0.60m NO, 3
g 4 R
TiE - KT ZE S % & H %
FE (ERT]
RYIFLUEEMT 25 m 25| 25 = 25
RYIFLUERFT ¢ 25 m} 6| 3 2 = 5
RYIFLUEYRT ¢ 25 m} 3] 3 = 3
RUAHES Yk wES 755
NOERFERFT $25 a 3 1 1 1 = 3
FEREIRE
avyY—rHEIE BIFL& ¢ 50 331 11 = 1
w H L
BrE€ay (RULVHLBSLE) EUIRFEEN S m 0.01] 0.15 0.15 0.15 = 0.003
T RE m 0.1] 0.15 0.15 2 015 x 015 X 1 = 0.07
EHRT— W=50 m 25| EHEY = 2500
BEEEE S — W=150 2{& m 25| EMHEY = 2500
(£T]
EEEITD-2 ¢ 25 m 1.8 18 = 18




T T ¥ R E B R
No. 3 0. 1 TI®D-2 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
25mm PE K& 1.8 =EE L SEE L SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & F BER=E
AsEliZEhR 2.00 3.60 .60 )| ( 4)
SEUMT t=15cmA T m
AsEiZEhR 0.60 1.08 .08 ) ( 1)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.35 0.63 .63 ) ( 1)
AR R T ME L m3
BHO. 13m3 0.14 0.25 .25 )| ( 0.3)
HHERT BER m3
BHO. 13m3 0.09 0.16 16 ) ( 0.2)
HERT HESL m3
(RC-30) 0.60 1.08 .08 ) ( 1)
TREERET t=10cm m2
(RM-30) 0.60 1.08 .08 ) ( 1)
LRERET t=12cm m2
BEZRH As13mm 0.60 1.08 .08 ) ( 1)
B R 18 16 t=3cm m2
BitunT 0.25 0.45 45 ( 0.5)
(£8) 2tDT m3
BitunT 0.03 0.05 .05 ) ( 0.1)
(AS) 2tDT m3,
ZAE 0.07 0.13 BEBI 0.1)
ASH% t
TEEE 0.60 1.08 n
HRE{REIR (5-10-10) m2,

=R oK E #




T I #% E & & EBE
No, 1
WA = (-2 PE$25 L= 1.8 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
T BHO. 13m3
K NFRED AR 1.000 X 0.60 X 0.23 — 0.001 = m3 0.14
T BHO. 13m3
LG TN A 1.00 X 0.60 X 0.15 = m3 0.09
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAA 1+ 0.35 —( 0.09 =+ 0.90 )= m3 0.25
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

=R M K E &




6. WEAEIHT HEXK



FOKE SRR T WEEFE  No.4
| Sl Ok =1 Y ALl & FEHE
AsE3E (7iE)  (5-10-10) A EGE (t=5cm)  77.59 AsEit 77.6
EEEAE IH A
Cofli%s (H5E) (7-10) i 1.80 CoBd 1.8
iEERMET SEEERR B AsEHEERR + 10emBA T WiE 68.1 aF 68.1 m m 68. 1 68
Bk (Rl T THEHE BrfEREY 35.3 nof + 1.1 nf =36.4 nof
Sl R A A
Eﬁ%ﬁ% -)miﬁﬁiﬁ) FaKE s T TEHE BERERXY 2.7 o0 + =2.7 i
5-10-10
BERR B (gl T THEHE BHEREEIRLY 18.0 of + =18.0 i  AFF 57.1 of
S g e Bl /K (A T TAEFE BEIEIRXY + =0.0 mi
Al . HLS
(e - 2i8) BERYEE S (AL F TR BEGEHLY L8 M + P 18 of
EHEERRE A (RERER) [ TIE EGE (t=5em) HEEAEIRmE 776 - {KEEmAE 57.1 = 205 of
i SEEAEIRmAE 1.8 - {K&HEmM 1.8 = 0.0 nof
S R R AsERIERR + t=10cmPA T TEEE 77.6 o+ n2 7.6 78
RUERILIE (As3) B HE (t=5cm) {5&7%1% X 0.03 + 2(?/2}B X 0.05 = 2.7 m3
AF 2.7 m3 m3 2.7 3
AR AR 2.7 X 2.35 t/m3___ o+ X 2.35 t/m3 = 6.3t t 6.3 6.3




LTINS

FE 5l

+T

HIEAE IR T

HEEAEIAT BEERER  No.4
Al Bk HAL| #&E At bR

el BRI (9% £ V) BHO. 1 m3 1.1 1.1
BEmE I (7= & V) BHO.1 m3 0.1 0.1

e sl FE AR A m3 1.2 1.2
RAETZAE m3 1.2 1.2

R IE HUE T - A A [ m2 77.6 78
BT - A A 1 S A A R m2 1.8 2

®KIF (FiH) vﬁ%i*ﬁ)ﬁ (20) - t=bem 3 A1 I T m2 77.6 78

xzE (27 U—1) A7+ t<20cm m2 1.8 2




H OB 1 sAmR B A E (musmn)

22 T SRR IH AsYIkr
[ BB W R R - O 5 S YNt R
[As t=5cm (5-10-10)]
KFNMT 78 FR AR 2. 50 2. 50 1 2.50
5.4 2.50 2.50 13. 50 5. 40 1 5. 40
1. 20 1. 30 1 1. 30
©) 7.2 1. 20 1. 20 8. 64 7.20 1 7.20
® 16.0 1. 20 1. 20 19. 20 16. 00 1 16. 00
®) 21.2 1. 30 1.25 26. 50 21. 20 1 21. 20
7.5 1. 30 1. 30 9.75 7.50 1 7.50
JEsgaiif ]
2.20 1 2.20
1. 80 1 1. 80
3. 00 1 3.00

it 77.59 68. 10




it E 2 mAmE B OFEOE mw
B ETAYT ShAEARIEIH Coblkr
H J=y it W A ¥ & IER Eq YW it &
[BECo (7-10)]
0. 60
1. 00 0. 60 0. 60 0. 60
0. 60
2. 00 0. 60 0. 60 1. 20
i 1. 80 0. 00




DMEEE FEAHAEERE S0 mEKERREIS ZRHTANETER

ZF5EH

ZZ XM

LERKELEESEXEA=IREHHR




8 Hl b & X

Iy —1 - 2 1y
§=1/20 FEEE $=1/20
¥ () [FBEE % () 55
® mEEE @ Coffz: 1% ¢ 50 H=0. 70m
(k) (%)
HUFA%E & RFE)
CENE - h5-7%® JWA B 110
#EEl | REIR EEl | REIR
BEFHNET A2 (13) 2
W HIIBRFN-30 - ‘ i 1 ¥
BAEYIARABRC-30 BEYLARBRC-40 S < 18 L TFEBEE H=300
AsHziz o ColuiE S JWA K 148
m L = st | =
- 8 . | = 5 ST RmEEE L — b 15 i 0
= |t | ARSI — b T = CURECETN NS HPPEA7 L 3) Fifp 15 E
= =| § 1EHI 2| (HPPEIF 7L 3) a D |4 )
=y VI b= )L 950
BER | S|
N
KARKAEDLEE . BEOHRIXIS0MEERT S &,
[B&{E] [B&{E]
+INo[FUE] D [ W +#®Y H I H | H2 | H3 | & = +INo[EUE] D [ W %Y HH [H [H | & =
@1 [ #50 | 60 [ 600 750(F#) | 810] 760] 260| 300 [HPPE @ | #30 | 40 ] 600 | 400(F#) | 440] 370] 240] 30|VP(HIVP)
D2 | $25 | 30| 600 600 630 | 580| 230| 150|PE
@ mWmEHE ® CoZfi
(TEK5IE b 75 % $50) (&= - )
fEEl | REIR #EHl | RiEIR
BEBHETRAaV(13)
B YARERC-30 BEYARARC-40
AsHRIE o ColutE
4 ( =F ™ ~. (=]
N ~
8 _ =
o (=3
gl § = | mat < T = f st ~
[=2] o =
BAER <
A Sto
Ci %}S’r =) C
I
BESRARYTF L% ¢ 75mm [B&{E]
+INo| HUR D [ w [x#vY][ H [ W [ n [@=
® | $50- ¢40 | 60-50 | 600 | 300 | 360 | 290 | 190 | vP
Q@ mEEE ® E|EHE
BE - BKE) (BE - )
#EEl | REIR EEl | REIR
BABHET X2 193)
) #iERFEN-30 "
BEYARARC-30
AsEUE o
Lo W’g
|
= =1 =
= | ¥ u | = ¥ | o
= H fEHl FEL ~ H 1EHEl FELT
o q o q
SEE
[B&1E] [B&{E] =
TTNo| MUE | D | W |T#®Y| H | Kl | w2 |@Z TTNo| MURE | D | W |T#®Y| H | W2 |E= mEEs | ¥ % R =
® | $25-¢20 |30-30 | 600 | 600 | 630| 580 | 380 |PEP-VP ® | $50- ¢40 | 60-50 | 600 | 700 | 760| 760 |VP
IEAW | TERNNERRROSOMEKERZETE
OB | RHNER AEMEE
IEER ERHAMATER
LERKELBESLCER=ZREHH

TCORER, RBROREZES0%ICHENLTNS,




HBKEMIEAEK noscale

A447 B#447
PEP ¢ 20 PEP ¢ 25
WERER WERER
PEP ¢ 20 PEP ¢ 25
#HAKETO-1 #HWAETD-1
1mEAR
. B
B | Rit T 3T 020 AEokiERsE (FODR)
AEKAER 953 6170+ 1-25
= mEdekE 3 2 ‘ ‘ 1k 200 +#8 H-150
by VLP-VP ¢ 20 | ! ! d)é
H : H ' ' 8
X N ' ' $200 ch#pEE H=200
¥ UIFLVE ¢ 20 S BEERBRHT 020 . . m
# g ' ' p =
24 Mk ki ¢ 20 & Y15V ¢ 25 —%ﬁ.—;
J = (=3
PER ALY §20 o 5{;??3%’3;;5
PE®E Wi ¢20 2
HPPER ShER PEERBE 5 1kieR 620 E— HPPER Shix%e PEERRE HILKIRF 625 AL 58T 625
#1 M5 IKIE 950 % 20 & B g MK 950X 625 errm———
A5 -MibIKAR ¢ 25

PEERMFI4 925

BL/KE ¢ 50
Bk HkE Y RSk 1bikig BOXET) | TRER TIER ERRR
&2 | AieEs 247
AEOE THY | #KEDE | 1@y ”*f $50% $20 | 50x $25 | $20 | ¢25 s -1
[0) 082945 $50 700 $20 600 30 A 1 1 1.8m 1.5m
@ 050431 ¢ 50 700 ¢ 20 600 30 A 1 1 1.8m 1.5m
@ 05042743 ¢ 50 700 ¢ 25 600 30 B 1 1 1.8m 1.5m
£t 2 1 2 1 4.5m

K ERERHIME X

(YRARFSEE $=1:20

MEHEE #KETD
20 (W=0. 60m)

24l | kBB
_—'—.

(600) BABHEZ R (13)

FiFAREMN-30
\ B GIARERC-30
AsHuiE S
3 s
= =il
=| | & . It mmmme—t
T H Ha (REL ==t (Frz)
;ﬁi’ﬂ"}‘ ﬁ Q
\ S
¢ 20PEP
[B&1E]
L+ TINo|x£# Y| H H1 H2 S
-1 600 | 630| 580| 150 % %

HEES | 52 ® R | B =

IHAM | TEAMAERRR6OmMEKERRE TS

BB | ke

- K ERERRIER

IEHEmR ZRMAME FER

LEBRKELEES X = REHH

TCOREER, RBEOREZ0%ICHENMLTLS. |



BMREMETER

§=1:250
1
§=1:100

2200

2000 H l
‘
W40 VPlE W50 VPlE
Wo 40 VP W50 VPl W40 VPl W50 VPR

2500

W40 VPHIE W50 VPIE

(BrE15)

R

$=1:100

15 B E4ry7° ¢50
3 .

W40 VPEEE W50 VPREiE [O2))]
- B HARR
£ # v .
2 HEBEBHRE s
HIVP ¢ 30
— Gt 2
LR 992 (IS BRKED) M
L S RF 630 BT & S#F $30 BECo (7-10)
W40 VPREE Wp50 VPFEE o
040 VPR 650 VPRE B B 8
VP30 T VP30 AEIE  {RER
HIVP ¢ 30 / \ HIVP ¢ 30 %%
1 15 EERBHRE (HY) $30 15 EERBHRE (HY) $30 )
|4 & -k kig 630 SEEIE W —
HEES | &3 #® R =
HEEIE

TRE®E B4 YARERC-40 IHAM | TEAMAERRR6OmMEKERRE TS

170

= I B 8| mpessTER
(=1
Wo 40 VPEE W50 VPREE IEHEmR ZRMAMBET TER

LEBRKELEES X = REHH

TCOREER, RBEOREZ0%ICHENMLTLS. |



